
D
A

T
A

 R
E

C
O

R
D

D
oc

um
en

t n
on

 c
on

tr
ac

tu
el

, s
ou

s r
és

er
ve

 d
e 

m
od

ifi 
 c

at
io

n 
- R

ep
ro

du
ct

io
n 

in
te

rd
ite

. 
 

FP
  

    38, Rue Charles de Gaulle F-94140 Paris/Alfortville   -   www.prudhommesa.com   -   Tél. : +33 o1 45 18 19 20   -   Fax : +33 o1 45 18 19 21prudhomme S.a

To replace : Substitution :

SV3-T120Double lock positioning (landing side)

with unlocking by rod (hoistway side)

43 620
F

o
r d

o
u

b
le

 h
in

g
e

d
 la

n
d

in
g

 d
o

o
rs

SV3 lock (Soretex) on double hinged landing door (T120).

Screws :

FHC 4x10 (x2) ; M4 with base plate (x2) ; CHC M4x6 (x4) ; discs M4 (x4) ; FS 4x6 (x4) ; FHC M8x25 (x2) ; 

FHC M8x20 (x3) ; CHC M8x20 (1) ; M8 with base plate (x1)

In
d.

 A
 d

u 
04

/0
1/

20
11

300

100

40

266

160

98,5

115
41

20

143

LR180 HD

AD165

2(AD161)

2(AD159)

2(CAPI)
(extra-plat)

2(SHD18)
2(XBC)

2(AD167)
AD160 AD166

(square bolt)

= Y

Option :
CP/DV (drilling gauge).

LR 180 * * SV3-T120    (prudhomme S.a.)



+ +

= =
RightLeft

M
A

IN
 F

E
A

T
U

R
E

S
 O

F
 T

H
E

 
P

R
O

D
U

C
T

    38, Rue Charles de Gaulle F-94140 Paris/Alfortville   -   www.prudhommesa.com   -   Tél. : +33 o1 45 18 19 20   -   Fax : +33 o1 45 18 19 21 prudhomme S.a

D
oc

um
en

t n
on

 c
on

tr
ac

tu
el

, s
ou

s r
és

er
ve

 d
e 

m
od

ifi 
 c

at
io

n 
- R

ep
ro

du
ct

io
n 

in
te

rd
ite

. 
 

FP
  

SV3-T120 Double lock positioning (landing side)
with unlocking by rod (hoistway side)

= =

* = P * = E

* = C

* = LLk L1

* = P * = E

* = C

* = LLk L1

AD161 AD161

AD161 AD161

AD167 AD167AD159 AD159AD160 AD160

AD167 AD167

AD166 AD166

AD159 AD159

XBC XBC

SHD18 SHD18

AD165 AD165

CA-PI

(extra-plate)

CA-PI

(extra-plat)CA-PI

(extra-plate)
CA-PI

(extra-plat)

43 621
F

o
r d

o
u

b
le

 h
in

g
e

d
 la

n
d

in
g

 d
o

o
rs

In
d.

 A
 d

u 
04

/0
1/

20
11

réf. : LR180 HG SV3-T120 réf. : LR180 HD SV3-T120



Mounting stages

90

ØM_

D
oc

um
en

t n
on

 c
on

tr
ac

tu
el

, s
ou

s r
és

er
ve

 d
e 

m
od

ifi 
 c

at
io

n 
- R

ep
ro

du
ct

io
n 

in
te

rd
ite

. 
 

FP
  

    38, Rue Charles de Gaulle F-94140 Paris/Alfortville   -   www.prudhommesa.com   -   Tél. : +33 o1 45 18 19 20   -   Fax : +33 o1 45 18 19 21prudhomme S.a

S
E

T
T

IN
G

 U
P

 T
H

E
 U

N
IT

Double lock positioning (landing side)

with unlocking by rod (hoistway side)

SV3-T120

90

ØM_

90

ØM_

43 622
F

o
r d

o
u

b
le

 h
in

g
e

d
 la

n
d

in
g

 d
o

o
rs

00
71

01
99

/0
1U

C
L

LIS
TE
D

US
R

S
A

11
03

4

E
LE

V
A

TO
R

 I
N

T
E

R
LO

C
K

 - 
7B

A
9

A
S

M
E

 A
17

.1
 - 

C
S

A
 B

-4
4

12
0V

A
C

 - 
2A

D
ec

em
be

r 
20

02

US

00
71

01
99

/0
1U

C
L

LIS
TE
D

US
R

S
A

11
03

4

E
LE

V
A

TO
R

 I
N

T
E

R
LO

C
K

 - 
7B

A
9

A
S

M
E

 A
17

.1
 - 

C
S

A
 B

-4
4

12
0V

A
C

 - 
2A

D
ec

em
be

r 
20

02

US

AD164

AD159

P
O

U
S

S
E

P

O
U
S

00
71

01
99

/0
1U

C
L

LIS
TE
D

US
R

S
A

11
03

4

E
LE

V
A

TO
R

 I
N

T
E

R
LO

C
K

 - 
7B

A
9

A
S

M
E

 A
17

.1
 - 

C
S

A
 B

-4
4

12
0V

A
C

 - 
2A

D
ec

em
be

r 
20

02US

00
71

01
99

/0
1U

C
L

LIS
TE
D

US
R

S
A

11
03

4

E
LE

V
A

TO
R

 I
N

T
E

R
LO

C
K

 - 
7B

A
9

A
S

M
E

 A
17

.1
 - 

C
S

A
 B

-4
4

12
0V

A
C

 - 
2A

D
ec

em
be

r 
20

02US

P

AD166

AD167

XBC

AD165

Ø 3,2

Ø 6
+

AD165

Ø 22

Ø 6

AD161AD161

P
O

P
O
U

S
S

Ø 30
(réf. KS30)

AD159AD160

SHX18

Ø 4
90

P
O

U
S

S
E

P

O
U
S

15

15

Ø 30
(réf. KS30)

Ø 6,8
+

M8

+

Ø 4

AD159

AD165

AD159

00
71

01
99

/0
1U

C
L

LIS
TE
D

US
R

S
A

11
03

4

E
LE

V
A

TO
R

 I
N

T
E

R
LO

C
K

 - 
7B

A
9

A
S

M
E

 A
17

.1
 - 

C
S

A
 B

-4
4

12
0V

A
C

 - 
2A

D
ec

em
be

r 
20

02US

00
71

01
99

/0
1U

C
L

LIS
TE
D

US
R

S
A

11
03

4

E
LE

V
A

TO
R

 I
N

T
E

R
LO

C
K

 - 
7B

A
9

A
S

M
E

 A
17

.1
 - 

C
S

A
 B

-4
4

12
0V

A
C

 - 
2A

D
ec

em
be

r 
20

02US

P
O

U
S

S

P

O

00
71

01
99

/0
1U

C
L

LIS
TE
D

US
R

S
A

11
03

4

E
LE

V
A

TO
R

 I
N

T
E

R
LO

C
K

 - 
7B

A
9

A
S

M
E

 A
17

.1
 - 

C
S

A
 B

-4
4

12
0V

A
C

 - 
2A

D
ec

em
be

r 
20

02US

00
71

01
99

/0
1U

C
L

LIS
TE
D

US
R

S
A

11
03

4

E
LE

V
A

TO
R

 I
N

T
E

R
LO

C
K

 - 
7B

A
9

A
S

M
E

 A
17

.1
 - 

C
S

A
 B

-4
4

12
0V

A
C

 - 
2A

D
ec

em
be

r 
20

02US

1

9

16 17 18

10 11 12 13 14 15

2 3 4 5 6 7 8

P

CP/DV

CT80

Ø 3,2
+

Ø 14

19


